0CA-PMK-26 Quick Install Guide TRANSITION
33820 Rev. A ETWORKS.

The OCA-PMK-26 is an optional Universal Pole Mount Kit for mounting the OCA-P181610 onto 2-6" diameter poles.
The kit is ordered and packaged separately. See the OCA-P181610 Install Guide for more information.

OCA-PMK-26 Option Part List

Strut Rails — QTY (2)

Fender Washer, 1/4” — QTY (8)

Pan Head Screws,1/4-20 X 1/2” Long — QTY (8)
Nylok Nut, 1/4-20 — QTY (4)

Band Clamp Bracket LRG- QTY (2)

Band Clamp Bracket SM- QTY (2)

Hose Clamp 3-1/2” — QTY (2)

Hose Clamp 6-1/2” — QTY (2)

Hose Clamp 3” - QTY (2)

OCA-PMK-26 Option Install Procedure

1. Attach Band Clamp Brackets (E) or (F) (x2) to inside of Strut Rails
(A) (x2) and secure with Pan Head Screws x 5" Long (D), Fender Washers (C), & Nylok Nuts (E) (x4). Torque to 32
in-lbs Max.

2. Attach Strut Rails to the Enclosure mounting bosses and secure with Pan Head Screws x 4” Long (D), and Fender
Washers (C) (x4). Torque to 32 in-lbs Max.

3. Feed Hose Clamp (G) or (H) or () (x2) through slots in Band Clamp (E) or (F) (x2), typical.

4, Wrap Hose Clamps around Pole and tighten.

—IGOOMMmMQOO®>

Transition Networks https://www.transition.com | tel: +1.952.941.7600 | toll free: 1.800.526.9267

OCA-PMK-26 Quick Install Guide TRANSITION \
33820 Rev. A N NETWORKS

The OCA-PMK-26 is an optional Universal Pole Mount Kit for mounting the OCA-P181610 onto 2-6" diameter poles.
The kit is ordered and packaged separately. See the OCA-P181610 Install Guide for more information.

OCA-PMK-26 Option Part List

Strut Rails — QTY (2)

Fender Washer, 1/4” — QTY (8)

Pan Head Screws,1/4-20 X 1/2” Long — QTY (8)
Nylok Nut, 1/4-20 — QTY (4)

Band Clamp Bracket LRG- QTY (2)

Band Clamp Bracket SM- QTY (2)

Hose Clamp 3-1/2” — QTY (2)

Hose Clamp 6-1/2” — QTY (2)

Hose Clamp 3” - QTY (2)

~
OCA-PMK-26 Option Install Procedure OY
1. Attach Band Clamp Brackets (E) or (F) (x2) to inside of Strut Rails D
(A) (x2) and secure with Pan Head Screws x %" Long (D), Fender
Washers (C), & Nylok Nuts (E) (x4). Torque to 32 in-lbs Max.
2. Attach Strut Rails to the Enclosure mounting bosses and secure with Pan Head Screws x %" Long (D), and Fender
Washers (C) (x4). Torque to 32 in-lbs Max.
3. Feed Hose Clamp (G) or (H) or (l) (x2) through slots in Band Clamp (E) or (F) (x2), typical.
4. Worap Hose Clamps around Pole and tighten.

—IOMMQOO®>

Transition Networks https://www.transition.com | tel: +1.952.941.7600 | toll free: 1.800.526.9267



https://www.transition.com/
https://www.transition.com/

